iy

3
P=si
i

1. ¥¥4
B4 ST 6 FEEE RIS NERIE R R R G EE
JBA T R | ERE S A N

2. EBEAR
R ERE ST EE e i

1) FEF4
2) BT 157 HH H &f1 64 7TH24H
= S 6FE12H27H
3) FEHEA
M4

ARFEBIE, Rlfnnn) || EEHBEATE NIC W T, EfEO a2 L,
OB TZER DM TR RO M ) ERASE ORI MEREE R
v b U =7 OfFENER L) 2K 5720, FERILRTEEG L2t kO A

EATHOEBETH D,

4) FEHBNA
BE TEERRILR) D LBY

E+sZi@E SN



PR NER =

ull
P

EHA | BT 6 FERIRE N BRI R ARG S E AT ESS
HH JE R
THH - T - R A7 ¥ & & KA OB ORR
TR = 1 2,797, 808
AR ZE AR R =X 1 965, 878
R AR ZE G RN 2y 1 965, 878 | A7 AR
1 (5B
#iX.1/500
— SRR G =X 1 1, 831, 930
— AR SRR 2y 1 1,831,930 | EJydEaE
(1 )1 (f&FT) =X
TR
1 A
H N EYIRR R = 1 7,631, 690
TERRIE SRR X 1 7, 631, 690
TEARRILENE Tt = 1 4,025, 710 | FBARILEETHRET
(1 )1 (f&p) =K
EARIL SRR = 1 3,605,980 | EHRILFEIESHIMGRE
(1 )1 (&) 20
BiStii} = 1 937, 700
im REEHER) = 1 937, 700
TavsE = 1 713,300 | 1€
1 =
BIFAHEREFT Atk
1 =
DA = 1 97,200 | HAEHMTEIC L W
3 [A]
BRI L ERL e 1 127, 200 | /ABRRRE S ERR

-1- E+sZi@E SN



i

i
T

%lljll
I

¥4 | D06 K RIGENERILENETRARR G E i
H H 4z
THH - T - fER] B fr & 4 % BN AR
1 e
ERERE = 528, 822
[ERES S 2y 528, 822
TR m =X 70,822 | fit%y (EEtE - EAME)
1 X
Ty AT 2 458,000 | FEFRCRAERE
1 X
EHEEA (Z OMFAmER <) =X 11, 896, 020
Z DA = 6, 053, 628
— R A = 9, 660, 352
SRR X 27, 610, 000
-2 - E A28 SUNHT R



